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Simplify. State restrictions on the variables.
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Sec 9-4 Simplifying the Product or
Quotient of Rational Expressions
e Factor all numerators and denominators.

e [f mulitplying you can simplify within the same fraction
and/or cross cancel. Finish by multiplying numerators
and multiplying denominators so that you can write the

answer as a single fraction.

¢ [nstead of dividing, multiply by the reciprocal then simplify
as you would when multiplying.

e State restrictions on the variable.
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You can now finish :

Simplify. State restrictions on the variables. 13
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. You are also ready for Quiz #2: Sec 9-2 to 9-4
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